DERIVATIVES OF TRIGONOMETRIC FUNCTIONS

1 Differentiate with respect to x:
(@) sin3x (b) 3sinx

(e) sinx+4cosx (f) tan2x

2 The derivative of cos’ 5t is:
A -=10sin5tcos5t B -10cos5t

3 Differentiate with respect to x:
(@) sinxcosx (b) xsinx

(c) cos2x (d) 2cosx

(g) sin2x—cos2x (h) Sm(x + g)

1

C —5sin5tcos5t D -2sin5fcos5t

(c) 2xtanx (d) x’cosx
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() xsecx p ooccx (k) x*cotx () -—Sec x
X cosecx
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5 Differentiate with respect to x:
(a) cos’2x (b) sin’3x (c) cos’x (d) cos(x’)
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6 Find f’(x) for f(x) = 3sin %— 4cos3Tx — x°. Indicate whether each statement below is a correct or incorrect
step in finding f’(x).
(3 i)_i X i( 34)_ o 3x
(a) dx(Ssm 5 |=5c0s5 (b) I 4cos > =6sin >
)= B e IX _ i IX 2.2 M) = D e X 03X _ 4.2
() f'(x)= 5 €085 65sin > 3x d) f'(x) 2c052+6sm > 3x
7 Differentiate with respect to x:
(@) +sin2x (b) (sinx—cosx)’ (c) sin’x+ cos’x
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8 Differentiate with respect to x:

(@) e'sinx (b) e™cos % (c) e*sin3x (d) e*cosdx
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(e) (cosx+sinx )E’_". (f) Em 2 — (g) £505X (h) esin.\'+(o.\' x
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